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December 17, 2019

Review for Laws Of Trigonometry Test
Review: Law of Sines, Law of Cosines, Area of a Triangle,

1. If the area of AEND is 24 square inches, m<CE = 150, and d measures 12 inches, the
length of side n is how many inches? - o
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@n triangle ABC,a=6,b=4.8,and c = 8.1. The value of cos C is
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3. Intriangle XYZ, m< X =45, m<Y = 60, and XY = 8. Find the measure of the shortest

side to the nq:_ures‘r tenth. ] O -+ S-6L0="1S C
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4. A parallelogram has sides of lengths 4 and 7. The acute angle between the two sides is
49°. Find the length of the shorter diagonal to the nearest tenth.
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B. Two sides of a triangular-shaped pool measure 16 feet and 21 feet, and the included
angle measures 58 °. What i the area, to the nearest tenth of a square foot, of a
nylon cover that would exactly cover the surface of the pool?
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6. Two straight roads, Elm Street and Pine Street, intersect creating a 40°angle, as
shown in the accompanying diagram. John's house (J) is on Elm Street and is 3.2 miles
from the point of intersection. Mary's house (M) is on Pine Street and is 5.6 miles
from the intersection. Find, to the nearest tenth of a mile, the direct distance

between the two houses.
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7. A machine part is in the shape of a triangle ABC witha= 13, b =20, and ¢ = 15. Find
the measure of the smallest angle of the triangle to the nearest ten minutes.
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8. A ship at sea heads directly toward a cliff on the shoreline. The accompanying diagram
shows the top of the cliff, D, sighted from two locations, A and B, separated by
distance S. If m<DAC=30°, m<«DBC=45°,and S = 30 feet, what is the height of

the cliff, to the nearest foot?
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9. Ali and Brynn are standing 250 yds apart. Both girls site an airplane between them with
an angle of elevation 40° and 45° respectively. How far from the plane is Ali?
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10. Solve the triangle by finding all of the missing side lengths to the nearest i@ and
angle measures to the nearest{degree )nd find the area of the triangle.
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11. Acute triangle ABC has an area of 60 £q. units, with a = 12 and b = 18. Find the
measure of the angle between sides a and b to the nearest degree.
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